Table 1 The Alarm Clock Problem
G
s Words Picture Imagination
Answers
Correct 0 2 3
Incorrect 35 33 32
Table 2 The High Tide Problem
Group ) L
Words Picture Imagination
Answers
Correct 7 5 10
Incorrect 28 30 25
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1 In the “Words” group, the proportion of incorrect answers to the

alarm clock problem in comparison with incorrect answers to the high

tide problem Was.
® 2:5 @ 3:10

@ 5H:4

@ 11:10

f§ 2 The number of correct answers was greater in the “Imagination”

group than the other two groups for.

@ the alarm clock problem but not the high tide problem

@ the high tide problem but not the alarm clock problem
@ Dboth the alarm clock problem and the high tide problem
@ neither the alarm clock problem nor the high tide problem

B3 In the high tide problem, the correct answers achieved with the

help of imagination Were those achieved with the help of a picture.

twice as many as
half the number of

PO ~@0

@ three times as many as

@ a quarter the number of

the pictures drawn by psychologist

instructions to draw the pictures themselves

The “Imagination” group received the problems and.

@ the pictures, with instructions to imagine the situation as quickly

as they could

@ instructions to imagine the situation as clearly as they could
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@® With the help of pictures, the number of correct answers increased




